DU MEd

Topic:- DU_J18_MED_Topic01

1) Which of the following statements stands true for ‘gendered division of labor'?
1 & Wex e & way & Fafalea 9 oF-wr sy= wd &2

1. It refers to allocation of different roles and tasks to women and men according to their individual preferences and capabilities./d%
Aigenal ok gol #t safdama adftaansit aiv ggarsit & snur w fafirs yfirerei ok wraf & smdes #t 3R @Fa s 2|

2. It operates only in reproductive activities within the household and not in productive activities. /98 T¥¢ &4l H Haa JAedes foraraf §
gian & = fF Iaures s 7

3. Before the Industrial revolution, most production took place within the household, and there was cooperation and complementarity

between men and women. /3TaNfire Hifa & vgat arftreizr I o & € gar 41 3k IuH afgarsi ok geul & weahn vd ufvgeaar 4t
4. It is not the same everywhere. /U8 9l 9718 U ¥HH 78! 2|

[Question ID = 18492]

1. 2 and 3/ 2 3 3 [Option ID = 43960]
2. 3 and 4/3 31 4 [Option ID = 43961]
3.1and 2/ 1 3R 2 [Option ID = 43959]
4.1 and 4/ 1 3T 4 [Option ID = 43962]

Correct Answer :-
« 3 and 4/3 3R 4 [Option ID = 43961]

2) Which of the following is described as the Magna-Carta of Indian Education?

farw & & o919 yrRdg fign 9t fan-oref v § aftfa 2
[Question ID = 18504]

1. Sargent Commission/dTo{e 3TIRT [Option ID = 44007]
2. Hunter Commission/ 23 3T [Option ID = 44010]
3. Macaulay's Minute/ A@Ta fie [Option ID = 44009]
4, Wood's Despatch/ 389 f&&4 [Option ID = 44008]

Correct Answer ;-
« Wood's Despatch/ 989 feg [Option ID = 44008]

3) Which of the following test items help in measuring the ability to identify the correctness of statements of facts, definitions of terms,
and statement of principles?

frafafaa & & o159 & ufianr uy qures sy=, TivHie el o Sgifae $Y1 F 98 89 $1 UgaH ©1 9gd) &1 /41949 § 98 82
[Question ID = 18454]

1. Multiple choice questions/agidered! ¥ [Option ID = 43808]

2. Fill in the blanks with one word/U® =Teg ¥ f¥ad ®I Gfd &3+ arel WY [Option ID = 43809]

3. Matching the items from one set to the other /U% g & gHY HHg ¥ fIe &3 dTd U4 [Option ID = 43810]
4, True — False items /d-3{H dTd U [Option ID = 43807)

Correct Answer :-
« True — False items /¥d-3H a1 WY [Option ID = 43807]

4) Which of the following is a micro-blog?

Fafafaa § 9 1= Agwiei 87
[Question ID = 18464]

1. Squarespace/Tpagyadd [Option ID = 43849]
2. Wordpress/@sud [Option ID = 43848]

3. Twitter/f¢eX [Option ID = 43850]

4. Blogger/ &I [Option ID = 43847]
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Correct Answer :-
+ Twitter/fg2X [Option ID = 43850]

5) Which of the following does not show a ‘learner-centered approach’ to assessment?

Frafafas d oF=-a1 sneeq ve 'faendf $fga Iurm &t 3¢t gufar
[Question ID = 18455]

1. Focus is on knowing the learning deficit of a learner/faenfifal & st & &1t W &g Hfgd A1 [Option ID = 43811]

2. Focus is on the learning process and experiences/3TETH Ufghar 3R 3HaETl WX 419 &fad AT [Option ID = 43813]

3. Focus is on strength, ability and needs of the learner/fa=mf & Twad e, T 3R srawg@arsdi U &M digd H1 [Option ID = 43814]
4, Learner is viewed as an active participant /fa=mdt &t wfspa ufaurft & =0 o 21 [Option ID = 43812]

Correct Answer :-
« Focus is on knowing the learning deficit of a learner/faenfial & sty @1 Hrit UX 919 Hfed FHA1 [Option ID = 43811]

6) Which of the combinations of concepts that follow are involved in observational learning?

Frafaf@a sauronst § | 19 a1 Saie= vddaones siftrma & wfdrfea g2
[Question ID = 18477]

1. Vicarious reinforcement, Self-perception, and Social behavior/ U@ QeaH, HTE-U@&U 3R FHITSEH SId8R [Option ID = 43902]
2. Vicarious reinforcement, Self-perception, and Social perception/Sfafifiie Yraer, 3TaT-HeIaivr 3 QAT W& [Option ID = 43900]
3. Self-perception, Expectancy, Vicarious reinforcement/ 3fTal-Wed&for, artef, UfafAfies qaee [Option ID = 43901]

4, Self-perception, Expectancy, Social behavior/3{TH-He&U, 3{U&T, FTHINS Sa8R [Option ID = 43899]

Correct Answer :-
« Self-perception, Expectancy, Vicarious reinforcement/ 3Té3-Wed&iuT, 3uefT, Uiafifee gaa [Option ID = 43901]

7) Which of the statements given below stand correct regarding ‘"Gender'?

fFafafea & ¥ oF-91 Fy= Wev & way # wél 82

1. Gender concerns only girls and women. /S8 &1 GG R Had aferersil 3T Afgensi @ 21

2. Gender operates across all classes, castes and communities. /%83 &1 Uft=ras It auf, snfagf ofv wggral & a1 81
3. Gender is viewed in terms of provision of equal opportunities./S8Y &I WA Yiaursi & Wy & Way & @1 o1 g1
4. Gender is determined by nature.fﬁ?? ﬁ?ﬁ'{ EﬂTﬁiffﬁH %I

[Question ID = 18485]

1. 2 and 3/ 2 31X 3 [Option ID = 43932]
2.1, 3, and 4/1, 3 3T 4 [Option ID = 43933]
3.1 and 4/ 1 3T 4 [Option ID = 43931]
4.2, 3, and 4/2, 3 3T 4 [Option ID = 43934]

Correct Answer :-
« 2 and 3/ 2 3R 3 [Option ID = 43932]

8) Which of the statements given below is not true?

fra & @ o9 w1 oY= w9 TR 27

[Question ID = 18481]

1. Education comes under the concurrent list/ram Hadf gt & sfcifd 3t € [Option ID = 43915]

2. Education is a means of social justice in the Indian Constitution/f1&n Ydg Sfqu o |miford g &1 U A1EH § [Option ID = 43918)
3. Education is the collective responsibility of the state and society/f1& T 3R THE &1 AHfe® WIGRT & [Option ID = 43916]

4. Higher Education is the fundamental right of a person/3e fR& safd &1 U Oifeie 3ifY#R & [Option ID = 43917]

Correct Answer :-
« Higher Education is the fundamental right of a person/3=a fR1en safda @1 us s R & [Option ID = 43917]

9) Which Report mentions in its Preamble that “a lot is taught, but little is learnt or understood”?

frw fraie 1 uwaran # oo fobar T & % ~aga o vern wiTaT €, afe JisT SiaT ar g wrar 872

[Question ID = 18495]
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1. Education and National Development/fRI&fT 3R TP faT [Option ID = 43972]
2. NCF 2005/ THIU% 2005 [Option ID = 43971]

3. Learning without Burden /{31 &gt &1 [Option ID = 43974]

4, NPE 1986/ T-UTS 1986 [Option ID = 43973]

Correct Answer :-
« Learning without Burden /fa1 &g W@ [Option ID = 43974]

10) The Kothari Commission (1964-66) Report recommended which of the following to be the goals of education in order to realize the
larger national goals?

BIST TN (1964-66) Tt Frard & Tty wedl &t yred Fe= & forg & & f5w Rien &1 @igg 777 $t Hwgf 31 715 82 [Question ID = 18488]

1. Reforming teacher education to suit national needs AgaEdrad & SHAEY AR faren o HY & [Option ID = 43945]
2. Introducing sexual health education/d19 e &1 S TR ST [Option ID = 43943]

3. Making education globally competitive/ af¥& ¥u & fen & ufagft @11 [Option ID = 43946]

4. Accelerating modernization/ Y 1esT01 @1 Tfd 1 el BT [Option ID = 43944)

Correct Answer :-
« Accelerating modernization/3@®IHRUT B TTfd DI oo HIAT [Option ID = 43944]

11) In reviewing the reliability data in a test manual, a teacher noted the following reliability coefficients:

s gdteor gfiret # fayw-taar sifest 9t aien ovd g9g, v e 3 FafafEa Ryg-aa qoiet &1 3wa e

i) Correlation of form A test scores over a month interval= 0.90/%TH A UHI&UT Ui &1 AU UH HeH & eRTd § = 0.90

ii) Correlation of form A with form B scores over one-month interval= 0.85/%TH A &1 BIH B & UTWi®! & T4 & Agday UH A & iawrd |
= 0.85

iii) Correlation of scores on the bases of halves (odd-even) of form A= 0.95/VUTGI® &1 Yguas BTH A & e (HH-fFww) & MuR = 0.95

Which methods used for estimation of reliability in i), ii) and iii) are correctly represented in the options below:
e & & w19 @ R ¥, Rygaar & sgam F fore wai &t wdt vsfa sa: $97 ), i) 37 iii) @1 a8 vfafafie o &
[Question ID = 18456]

1. Kuder-Richardson, Split-half and Test-retest respectively/ F83-ReagwH, fEee-gmh 3R ydtem- g gier &4id [Option ID = 43816]

2. Test-retest, Equivalent forms method (with time interval)/T8t&iT- O=: Tiem), THged &9 UG (99 Sfa3d & 91Y) [Option ID = 43815]

3. Test-retest, Equivalent forms method with time interval, Split-half respectively/ T1&01- O=: TRI&0T, U &4 Tgid 9HY Ao & 91, e 8% Ueid
@HTd [Option ID = 43817]

4, Inter-rater method, Test-method, Split-half respectively/ge3-¥eX Ugla, Udlem-ugfa, fiee-gms &H7d [Option ID = 43818]

Correct Answer :-
« Test-retest, Equivalent forms method with time interval, Split-half respectively/ TRI&0T- U=: T1&0T, ¥ ¥4 Ugld F9T 3faud & 91y, e 87w
ugfd Ffd [Option ID = 43817]

12) Aamir has a difficulty focusing on one aspect of a situation, picking out important details, analyzing a pattern into different parts, or
monitoring and making strategies to solve problems. He works well in groups, has a good memory for social information and prefers
subjects such as literature and history. On the other hand, his friend Neema perceives separate parts of a total pattern and is able to
analyze a pattern according to its components. She is not good in social relations, but is good in Mathematics and Science.

AR &1 feft uffRufa & o uar v wma $iea s, Ayl faavon &) 9739, il 9 o1 fafira el & feaor 33 o fesht waen &1
AEAIE BIh IUD TATUTH B Ft TS a4 H FiSTS gl 81 98 THE | 501 S1d HaT 8, WHTeTe ga-si & e sust wyfa ot g sk a8
wifge ud sfoer fwal &1 aiftre wew a1 81 gud 3R Sua firg o wqef te & fafirm el &) sremr-srem gt € ok SUd ged! & IgaR
e (Yeh) &1 Rizduo &2 urd) 31 Sud wraifre ddy Hee 781 & fbq a8 ivra ik Ry & st 21

On the basis of the above information, what inferences can be drawn about the cognitive styles of both Aamir and Neema?

ST ISR & ATYR U ATT FER 37X a1 g1 @t Sy=res et & an ® & e e aod 82

[Question ID = 18491]

1. Both Neema and Aamir are Field Dependent/=THT 3% 3R g1 & TT4&l €1 [Option ID = 43957]

2. Both Neema and Aamir are Field-Independent/=HT 3R 21feR ST & fARUef €1 [Option ID = 43958]

3. Aamir is Field-Independent while Neema is Field-Dependent/3TfER &= Fxder & iafes =tam &= |mdar 81 [Option ID = 43955]
4, Neema is Field-Independent while Aamir is Field-Dependent/=THT &= FRUg € Wafds 3MER &3 TIU& g1 [Option ID = 43956]

Correct Answer :-
- Neema is Field-Independent while Aamir is Field-Dependent/=rT &= fARder & wiafeh afirR &= Trder 81 [Option ID = 43956]
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13) An English language teacher prepares a worksheet for her students to be done by them at the end of the day, to know where the gaps
are. She administers another similar worksheet after addressing these gaps in the next class.
What assessment practice could this be considered?

S 3 RiféreT st wan & i # faenfial &) v srd-uae 31 & fore 3t @ o1f% ag o w6 iy & aiftrme # @t siawra 81 et
FTeTy J 37 6Tl &) G $v1 & 916 98 faenfial @) ue ok ord-wme 1 & et 8
T 3MTeu Uihar @ frd 3arg & U & 91 @1 9$dl 87 [Question ID = 18476]

1. Repetitive assessment /IAXTdxI Tedid+ [Option ID = 43897]

2. Diagnostic assessment | FGHTH® Hegid [Option ID = 43895]
3. Summative assessment/ & adD Hedid [Option ID = 43898]
4. Formative assessment [{=HTHE EF-':IT&T-"-I [Option ID = 43896]

Correct Answer :-
« Formative assessment /T Hedid [Option ID = 43896]

14) "The school does not consist of the building and furniture on which the scanty allotment for education was thoughtlessly squandered
away in imitation of the west”. Who among the following expressed this idea?

femerg A sHRT SR wfar € aftifera =8t 8, fora w Rren & fore sryafw smdes &t ufdm & srgevor & e Se-wug sruerg & far )
fFrafafea & 9 fFa g fear =1ea fF 912 [Question ID = 18462]

1. John Dewey / ST SJ3 [Option ID = 43839]

2. Rabindranath Tagore/ gy R [Option ID = 43842]
3. Abdul Kalam Azad/3fsgd @aTH 3Tl [Option ID = 43841]
4, Mahatma Gandhi/ HeTEHT T4t [Option ID = 43840]

Correct Answer ;-
» Rabindranath Tagore/ Tdig=Ty 2R [Option ID = 43842]

15) From the two statements given below, identify the phenomenon that each refers to:
I: Making the disabled learner fit into a regular classroom
I1: Adapting a regular classroom to accommodate the needs of a disabled learner

H e e syt # @ sfufrufzo Hifm f vde e ufvae «1 Ay svar g2
I: J&rmar gaa faenfial &) wm=g weansit # gumaifor &3 &t
II: 31&HaT gad faenfiat &t smaxawarsi o Tamaiferg S & o TTH=T S& &1 SHa- $3- &I [Question ID = 18453]

1. I: Integration; II: InclusionI: /I: Flfrfb_'{; I1: GHEH [Option ID = 43804]

2. I: Mainstreaming; II: Integration:/I: T@IYRT H |fAferd &¥T; 11: §H&H [Option 1D = 43805]
3. It Inclusion; II: Integration/I: THIAY; 1I: Wi [Option ID = 43806]

4, 1: Inclusion; II: Mainstreaming/I: THTARH; 11: TEIYURT ¥ WEIferd H31 [Option ID = 43803)
Correct Answer :-

= I: Integration; II: InclusionI: /I: TOE; II: A [Option ID = 43804]

16) Object permanence is to sensorimotor stage as conservation and reversibility are to:

G & R FT A ey WS U TR0 | § d61 Hay & 3R IupAviaar &1 H #: [Question ID = 18479]

1. concrete operational stage.rﬁﬁf Tfhara®T [Option ID = 43910)
2. informal operational stage.fﬁﬁﬁﬁ Tfchgraey [Option ID = 43909]
3. formal operational stage/ 3fTT=TYes WfFaTaT [Option ID = 43907]

4. preoperational stage./Jd4 e aTa®iT [Option ID = 43908]

Correct Answer :-
- concrete operational stage./Td HfehaTa®RAT [Option ID = 43910]

17) According to progressivists:

wfaarfeal & aaR:
[Question ID = 18448]

1. frequent objective testing is the best way to determine what students know/ SR-dX faan G’%’Q’ﬁ gdigur g Ry & &1 gag a1 ada % EACIE]
@1 &1 UdT € | [Option ID = 43784]

2. students learn best from what they consider most relevant to their lives/@TF 3iU+ Silg= & forg o Te 3ifire Iuait 7d €, St 9 ifte dvad €1
[Option ID = 43786]

3. student interests should not be allowed to take time and attention away from the academic curriculum,/<Td #] =it ?15;[, IT6 AT AR O &
HepTefte uraTEy ¥ g3 o o &t srgafa 78t € et =nf@u [Option 1D = 43785)

4, there is a common body of information that all students should know/S==1 @1 31Ut fawgayg & off T =1 &1 ga1 41 91fedl [Option ID = 43783]
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Correct Answer :-

+ students learn best from what they consider most relevant to their lives/@T 304 Gfigq & forw o wed aifte Iuanft ae 8, 3wt 9 aifte dtea &
[Option ID = 43786]

18) According to the report, 'Learning Without Burden', classroom knowledge assumes total independence from the child’s own
experience and knowledge of the world. As a consequence of this de-coupling, children begin to compartmentalize knowledge into two
categories:

‘RRren famn ag &' & uftdes & FWR, F&MTd T4 998 & AU YT 3R YR & J149 | Yuia: Taad 7= forar siran 81 39 figmas & uiomaassy,
o= 79 P o AforY # Suefed ST URY SR A €

[Question ID = 18407]

1. that which is valued as knowledge and the other which is not valued as knowledge/ @ Sif 19 & &4 ¥ Hg@qul AT T € 3R g8 o IH & ©9 H
Hg@yul & WHT T | [Option ID = 43622]

2. that which is valued at school and the other which has relevance outside the school/@l foret faemeg & mgeaygul arm mar sii gavr fSraa! faemaa & e
UTEfiTar €1 [Option ID = 43618]

3. that which is meaningful and the other which is not meaningful/aT it f& G1e & 3R gERT o1 fo T1%e 781 ¢ [Option ID = 43616]

4. that which is burdensome and the other which is not burdensumeﬁfff || 'ﬂ_'ﬁ'f%"l?l % ETing gl 5| aﬁf%ra ?Eﬁ'%l [Option ID = 43620]

Correct Answer :-

« that which is valued at school and the other which has relevance outside the school/a@l forel famera & Tgayul 91 7141 3R geRT foree! faemey &
e WiEdar 81 [Option ID = 43618]

19) According to NCF (2005), Critical Pedagogy provides an opportunity to:

TAHIU® (2005) F HTHR, TATAEATAS RIE0T U S@AEI UG T ¢
[Question ID = 18420]

1. Reflect critically on issues in terms of their political, moral, economic and physical aspectsm'\'i’l’ﬂf?l'cﬁ, Etﬁ'l’ﬁ e iR wmdifes q’é'&j&ﬁ % He # =
@ &1 [Option ID = 43675]

2. Reflect critically on issues in terms of their political, religious, physical and moral aspects/Taiaes, ¢ftia, IR R Af0F ggst & de o ffem &
T [Option ID = 43673]

3. Reflect critically on issues in terms of their political, social, economic and moral aspects/Ts1fad, dHT®, e iR Afds ggst & G & fiea s
@1 [Option ID = 43671]

4, Reflect critically on issues in terms of their political, social, impressionistic and physical aspects/ITaiHifae, oMo, fied, TuraaE] 3R IS Tgqal
% Hey ¥ a9 & &1 [Option ID = 43677]

Correct Answer :-

« Reflect critically on issues in terms of their political, social, economic and moral aspects/ITSifde, HTATRE, e SR Afde vggsi & wg # fiaa
&< &1 [Option ID = 43671]

20) According to Freud, the different types of anxiety are:
1. Neurotic Anxiety

2. State Anxiety

3. Moral Anxiety

4. Reality Anxiety

wIas & AR, i & fafim vor §:
1. fafére fean

2. 3wyt feiar

3. Afee e

4, greafasar § e fear

[Question ID = 18427]

1, 3 & 4 [Option ID = 43700]
.1, 2 & 4 [Option ID = 43698]
1, 2 & 3 [Option ID = 43696]
2

Correct Answer :-
« 1,3 & 4 [Option ID = 43700]

21) Arrange in sequence, the stages of cognitive development as given by Jean Piaget.

i wet & g1 Ry Y wyee faea & 9w ot oy | auafeud oY |
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[Question ID = 18432]

1. sensorimotor, preoperational, concrete operational, abstract operational/Sdg-U=iig, Ud Hfrards, Y dfared, s fhare® [Option ID = 43722)

2. sensorimotor, preoperational, concrete operational, formal ﬂperatinnalm'aﬁ—ﬁ'féﬁ'q, ‘It'f FI%‘GTW, WF fqaiyes dipares [Option ID = 43724]
3. sensorimotor, preoperational, formal operational, concrete operational/de-u=ita, Id widmarars, wferarars, o wfdarata [Option ID = 43720]
4, formal operational, sensorimotor, preoperational, concrete operational/3fia=Tit® Hferaratss, Tde-usia, qd Sfesarers, Td Sfeharal® [Option ID = 43719)

Correct Answer :-

« sensorimotor, preoperational, concrete operational, formal operational/3de-Usig, qd Wftrarers, Od wframers, s dfsarere [Option ID =
43724]

22) Which program seeks to open new schools in those habitations which do not have schooling facilities and strengthen existing school
infrastructure through provision of additional class rooms, toilets, drinking water and also has a special focus on girl's education and
children with special needs?

S T STAHH I afETgl | A TPl B GreA 9rgal g, o6 Tt fRren 1t giawr 981 8 o sifafea sansi, 2itareal, §9 & it & wau= &
SR HIS[GT W &1 WA= BT Aoigd Hal & adl faxiy wu § asfeal it Rran i fasiy S=val aret a1 w? fa=iy @ 441 82 [Question ID =
18494]

1. Sarva Shiksha Abhiyan (SSA)/Ed fR1& 3@ (T8 TH U) [Option ID = 43967]

2. Rashtriya Madhyamik Shiksha Abhiyan (RMSA)/ IT8Ta deafires fRIam Sfiam ($ UH TH U) [Option ID = 43970]

3. National Curriculum Framework (NCF-2005)/RT810 UTaa=d] &1 U@ (TFHIUH-2005) [Option ID = 43969)

4, Right of Children to Free and Compulsory Education (RTE, 2009)//:X[e® 3R aifard fien & fou s=af &1 3fU®R (3RS, 2009) [Option ID = 43968)

Correct Answer :-
« Sarva Shiksha Abhiyan (SSA)/9d fR1&T Ifi@ (T8 TH T) [Option ID = 43967]

23) With reference to Edgar Dale’s Cone of Experience, arrange the following in increasing order of abstraction:

FafafET $ (TR 39 F IUE-TF & IFER AT $ ded HH § ogaredd B
(i) Contrived Experience/W&feud fud

(ii) Demonstrations/ W&l

(i) Dramatic Participation/ FTe® g TguTlar
(iv) Field Trips/ &% aramd

[Question ID = 18435]

1. (iii) (i) (iv) (ii) [Option ID = 43730]
2. (ii) (iv) (i) (iii) [Option ID = 43733]
3. (iv) (ii) (iii) (i) [Option ID = 43731]
4. (i) (iii) (ii) (iv) [Option ID = 43728]

Correct Answer :-
« (i) (iii) (i) (iv) [Option ID = 43728]

24) In the modern system of Education, which thinker brought about a paradigm shift regarding the place of the child?

Ry @t sy worelt # fw faan® 3 a2 & WM & I § smyEge uiad a9 &1 $19 fEur? [Question ID = 18419]

1. John Dewey/ - 833 [Option ID = 43666]

2. 1. J. Rousseau/s. Sf. ¥4 [Option ID = 43668]

3. Mahatma Gandhi /HeT&T 7ieh [Option ID = 43670]
4, Plato/@ie! [Option ID = 43664]

Correct Answer :-
« 1. J. Rousseau/dl. o T4 [Option ID = 43668]

25) In the famous analogy of education to plant life, where children are likened to plants and school to a garden, the process of education
becomes one of:

e &1 gwafa sitae & waEa &1 whiis Iua o o=t &1 Wiul o d ®f T o3 & & & 71 T €, S9H g $t uftear 9 @ @ v
[Question ID = 18393]

1. making external response as effective as possible/aTg! ufaferar & guriva uurdt &9 & [Option ID = 43560]

2. making explicit what was potentially implicit/SHTfad 3feads &1 odad 91+ @1 [Option ID = 43566]

3. ensuring a highly stimulating environment for the development of children/& = & fa®Ta % foru e arafiie 3Idoie aamaxy gfAfdd &3 aref [Option ID
= 43564]

4. organizing desirable inputs-knowledge, skills and attitudes to achieve desirable ends/ af@-1a =131, Siera v sifighmt & smarem gRT et sid
T &< arelt [Option ID = 43562]
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Correct Answer :-
« making explicit what was potentially implicit/S4Tdd 3redad &1 &ad g41- @1 [Option ID = 43566]

26) In the 'Rights of Persons with Disabilities Act, (2016)’, which of the following statements/ideas is not true with respect to provisions
to be made by educational institutions?

‘Ragirer siftre afafam, (2016) F qaR FrafafEs sy=T/RERt & F $1= a1 R Rigor T & S99y § 59 afufam § ddfta adf g2
[Question ID = 18458]

1. Detect specific learning disabilities in children at the earliest and take suitable pedagogical and other measures to overcome them/a= & Teg § Seg
fafary aiftrm faaiar &1 uar §HT 3R 39 IR $1g U & foru Suged Defite iR 3= U &A1 [Option ID = 43826

2. Provide reasonable accommodation according to the individual's requirements.{&ﬂ'ﬁii # HavgdHars & HHR Sfed SiEr UgH &l [Option ID =
43824]

3. Provide reservation in jobs in organizations around the educational institution/ &/ T ¥ T WTeA1 o AiHRal § SR e &1 [Option ID =
43823]

4. Make the building, campus and various facilities accessible/ Ha, RER 3R fafirs Gfaums gau &9H1 [Option ID = 43825]

Correct Answer :-
« Provide reservation in jobs in organizations around the educational institution/ Q& TR & S8 G- H FIHTal § $R&U Ye &3 [Option ID =

27) Both Gandhi and Dewey lay emphasis on the importance of truth but for Gandhi, it is only a step in the realization of
truth.

mieht oY SO gl A | & Wew™ W uR faar g fbg mich & euw, a7 T & 91Y $T $ad UP 9301 & | [Question ID =
18471]

. relative; experimental/®TU&s; UG [Option ID = 43876]
. relative; practicalmﬂ&i; STEgI® [Option ID = 43875)

. relative; absolute/TT4&; qp? [Option ID = 43878]

. relational; absolute/HdHURE; IIUf [Option ID = 43877]

[

Correct Answer :-
« relative; absolute/ETU&l; TUT [Option ID = 43878]

28) Central to a classroom, in which the pedagogy used is based on Critical Theory, is:

for wen ® fRien-ana afds Riga I nwfa sa g, Sas Fa o &
1. Autonomy /STg<dl

2. Freedom /¥ddadl

3. Self-Realization/ 3T&yaley

4, Justice/0TT

[Question ID = 18478]

1.1, 2, and 4/1, 2 3fR 4 [Option ID = 43903]
2. Only 4/3%dd 4 [Option ID = 43906]
3.1and 2/ 1 3R 2 [Option ID = 43904]

4,1 and 3/ 1 3R 3 [Option ID = 43905]

Correct Answer :-
+ Only 4/@dd 4 [Option ID = 43906]

29) Rabindranath Tagore's idea of education is:

gy 2R & faar o e &:
[Question ID = 18459]

1. Education for liberation /3 ddT & feTg fR1&fT [Option ID = 43829]

2. Education for human making /ATa-fHf0r & ferw faren [Option ID = 43830]
3. Education for all /&3t & ferg fRrem [Option ID = 43827]

4, Education for fullness/Hqufar & forg f1am [Option ID = 43828]

Correct Answer :-

30) Learning theorists believed that we must look to the social environment for the source of linguistic pattern. According to them,
language is primarily shaped by others through:

collegedunia:s

India’s largest Student Review Platform




ferTH Rrgiaeri &1 7= o1 % g6 wrardt ufaw & wia & fore arnfore ufids w sawyg w@r= <A1 D1fge) 39 SHR YNl 981 9 § gERl &
TRI ¥ 3TPR At 81 [Question ID = 18431]

1. Trial and Error/YHMH 3R 'g'f? [Option ID = 43716]

2. Insight learning/ 3fde® 31fETH [Option ID = 43718]

3. Classical conditioning/IT&d &%= [Option ID = 43712]

4, Operant conditioning/ foFaT-Ugd 34 [Option ID = 43714]

Correct Answer :-
» Operant conditioning/ ﬁ:‘ﬂ%ﬂ'ﬂﬁ 3IEY [Option ID = 43714]

31) The words which best sum up the procedures of a school based on the ideas of John Dewey are:

TTeg; O W11 SYE & faaRl U syt Tpa & ufsharsii &1 Tad w31 Hauv $34d §, 9 §: [Question ID = 18412]

1. Freedom, virtue and hypotheses./Fad], TardR 3R GR@eaT [Option ID = 43639]
2. Discovery, virtue and hypotheses./ @GL HETER 3R gREw [Option 1D = 43645]
3. Activity, discovery and freedom./ TIfafaf¥i, @ 3% ad=a [Option ID = 43641]

4, Hypotheses, activity and virtue./9f@ a1, TIfafaf¥ 3k TETER [Option ID = 43643]

Correct Answer :-
« Activity, discovery and freedom./ TIfAfaf¥, WWl 3R Te=aT [Option ID = 43641]

32) In Ordinal data, categories are rated where a higher score indicates a better rank. Which of the following averages are preferred
when data is presented in an ordinal scale?

TP HAYEP Hiwe A, Aot @ Fruffea fear sran 2, Sel e o= of te 38R Ue & $a &ear 81 o 3ifee wagas Arg- # wgd 52 M g aa
ﬁ?ﬁtﬁaﬁ#maﬁaﬁwrﬁmﬁ%? [Question ID = 18445]

1. Mode/@gdi® [Option ID = 43773]
2. Mean/HT g [Option ID = 43771]

3. Median/H1TeIasT [Option ID = 43772]
4. Range/ UfHY [Option ID = 43774]

Correct Answer :-
+ Median/91f&ra5T [Option ID = 43772]

33) "We rob the child of his earth to teach him geography, of language to teach him grammar. His hunger is for the epic, but he is
supplied with chronicles of facts and dates. He was born in the human world, but is banished into the world of living gramophones”. Who
said this about learners and the curriculum?

“&H 9TAF B YNE Ug & B J 1sH Yy F19 a4 8; ameu g & i 3wt ytwr &4 a9 §; Sust Y@ 1 ¥ fore § g oud unE na
i ok faftrat ¥ - afirerE wRga o fRu Wi 8| a1 o9 Y A9 8 WIHE o |, IR gW S8 iifad A% & W | ehd od §1”
sftrreatal oY ursasw & 9 A U1 fFwa wer?

[Question ID = 18411]

1. Tagore / 7R [Option ID = 43632]

2. Rousseau / &4 [Option ID = 43634]

3. John Dewey/ W1 €Tg [Option ID = 43636]

4, Bertrand Russell/ 48 I [Option ID = 43638]

Correct Answer :-
= Tagore / TR [Option ID = 43632]

34) How is deaf culture (such as language, values and customs) generally passed on from one person to another?

TR TRPpia (S HTaT, e, fa-fearn) amrae: 5w ver ve safed & ga safed a@ gvaiaied gidl 82 [Question ID = 18490]

1. Deaf culture is not usually passed on/dtR H¥id THTT: BN 8l gidl [Option ID = 43954]
2. Parent to child/ 3fHTde § = & [Option ID = 43951]

3. Peer to peer/ HEUIS! ¥ WgUrd! & [Option ID = 43952]
4, Child to parent/aTa® ¥ 3{fHTa® Hi [Option ID = 43953]

Correct Answer :-

« Peer to peer/ TgUT3! ¥ WEUIA! @I [Option ID = 43952]
35) Bertrand Russel believes that while philosophy diminishes our feeling of certainty as to what things are, it also:

TS T8 BT A & 3 oel axfq, 9 &t €, & an o fifiaar 9 sryfy @1 &9 #3341 8, 981 98: [Question ID = 18473]

collegedunia:s

India’s largest Student Review Platform




1. strengthens the grip of custom and dagmatismfﬂ“lﬂéﬁ R gayfHar & Uhs &l Haldgd &l g [Option ID = 43885]

2. gives us certain knowledge/ 85 @ F &aT § [Option ID = 43883]

3. raises no uncomfortable questions/®Ts Gfﬁfaiﬂw Uy 8l I&Td1 [Option ID = 43886]

4, increases our knowledge of unfamiliar and liberating possibilities/3MaRi=d 3R Had TFuraei & I H g9 I P! F@Idl & [Option ID = 43884]

Correct Answer :-
« increases our knowledge of unfamiliar and liberating possibilities/3fafkferd 3R Haa THE1f & a1 & AR T &I 9g1aT ¢ [Option ID = 43884]

36) A student receives a phone call in the presence of the entire class, causing disturbance to teaching. The teacher reprimands him and
gives him homework which is double that given to his classmates. Subsequently, in the future, the student ensures that he puts his mobile
on silent mode during classes. This is a case of:

U BT I F&T P HA B 3 W G $aT 8, o ARSI B 3avg B ool 21 Rers 37 ¢ Fam & 9 BedR @ g i 39 30
HeuIfedl @1 ga=1 | g1 Yedd ¢ar & | Hidw ¥ o1 gifia ovar 8 f& a8 3m= Aiasa ® s & 999 {9 Hawi1 § 3@ | 98 §: [Question ID
= 18428]

1. negative punishment/®RIHF U [Option ID = 43709]
2. negative reinforcement/<T®HTRIHE Udcl [Option 1D = 43705]
3. positive punishment/HHRIHAS TUS [Option ID = 43707]
4, positive reinforcement/H®RIH® U [Option ID = 43703]

Correct Answer :-
» positive punishment/HHRTHD TUS [Option ID = 43707]

37) Critical pedagogy in education seeks to:

TS Riamard, Rran & & # argdr

i) cement and strengthen the established social order /T ATHTTS STTRITHH B 3 Aoigd Ul Afawitiia e
ii) address the relations of power and inequality in society/THra # ¥R 3R AT & Wyl ) Faiftd S0

iii) promote cultural hegemony/JixGTa® firge &1 agrar &1

iv) liberate students from oppression /BTl I IafET A TS FIT

Which of the following is correct?
Fadd o= g 82
[Question ID = 18408]

1. i) and iv) [Option ID = 43624]

2. ii), iii) and iv) [Option ID = 43628)
3. i), ii) and iii) [Option ID = 43626]
4, i) and ii) [Option ID = 43623]

Correct Answer :-
« i) and iv) [Option ID = 43624]

38) As recommended by the National Curriculum Framework for Teacher Education, the functions of teacher educators lie in developing
perceptions of teachers with regard to?

frere Rren & forg g wreTat @t v g1 & Wit st & AR, s wikieret &1 w1 fob uroneit ®t fawfa wen 82
i. Educational practices/f&/® anar

ii. Educational processes/f&r® ufthard

iii. Educational pragramfﬂf&'ﬂ’ EUT

iv. Educational objectives/91f&& 3It=4

Which of the above options are correct?

S0 RRu T Rew § & o ad 22

[Question ID = 18385]

i, ii, iv are correct/ i, ii, iv S8 & [Option ID = 43530]
i, ii, iii are correct/ i, ii, iii &1 & [Option ID = 43528]
i, iii, iv are correct/ i, iii, iv T8l & [Option ID = 43532]
. i, iii, iv are correct/ ii, iii, iv FE?{ %’ [Option 1D = 43534]

T R

Correct Answer :-
« i, ii, iv are correct/ i, ii, iv H8! & [Option ID = 43530]

39)
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Rashmi and her father are visiting a museum of Natural History. Rashmi has the knowledge of an animal called camel. Upon seeing a
Llama, she says, 'See, the camel’ and her father replies, '"No, that's not exactly a camel as it does not have a hump'. The child says 'Oh! I
see.’ This example demonstrates:

2 3R IS forar wepfas sfaer GUsTay &1 U HI1 W & | FAST e He 91 aTd U & TR F A 8 | T B TEHT 98 Hg a1 @ ‘el
Fe'| IS firar g § % 98 arvaa ® Fe 7 8, FifS 36 TR & Fas T g1 aiferst sedt ¢ 'oie! & 3@ W@ § 9§ I9re¥Vr ST 8: [Question
ID = 18487]

1. Accommodation/ TG @1 [Option ID = 43940]

2. Conservation/TR&TT &1 [Option ID = 43941)

3. Object permanence/d%] T@ $I [Option ID = 43942]
4. Assimilation/TEHTEIY B [Option 1D = 43939)

Correct Answer :-
« Accommodation/ THE &I [Option ID = 43940]

40) In learning through activities, the child comes in direct contact with the real world through:

fraream & dem #, g=r Fefafee & @ e gr afas se & 9y G dud & o o &:
[Question ID = 18415]

1. Factual information provided by the experts through the textbooks/ T30 U&e! & HIedH ¥ fa=iesll gRT WeH @1 718 arafdd WHeRT [Option ID = 43649)

2. Facts being verified in the laboratories and classrooms/SaTRITET3 31T Hemsii & dul &1 - fbd WH [Option ID = 43652]

3. Actual experiences and the tackling of practical problems by using knowledge/difae® 34T 3R aardeie gremsi ¥ fFAued & fore 3199 & W [Option
ID = 43648)

4, Actual experiences in the laboratories and school garden/ WETEITEN 34 3R ey I o arafdd ayal &1 Wit [Option ID = 43653]

Correct Answer :-
« Actual experiences and the tackling of practical problems by using knowledge/arsidd HJHT 3R AFeING Turef 4 e & fou 39 & uam
[Option ID = 43648]

41) The average percentage of marks at the senior secondary level of a particular Education Board have been increasing steadily over the
years. This indicates:

s fagiy fren 91 & o= Arefie wR W oita ufersra e o) 9Te 92 ¥€) € | U8 94T 8: [Question ID = 18440]

1. An increase in the peakedness of the normal probability curve./WETHI-E HIET 956 @I &Rl L f{@ [Option ID = 43755]

2. A rightward shift of the measures of central tendency on the normal probability curve./THTHIRT THIET G TR Hotd S & IUMS &I g1 AR ggand
[Option ID = 43757]

3. Increase in the pass percentage of students./@T31 & 3ol wfa=rd & afE [Option ID = 43753]

4. A leftward shift of the measures of central tendency on the normal probability curve. /ST AHIGHT b TR hd T & JU! o S 3R FPrd
[Option ID = 43751]

Correct Answer :-

« A rightward shift of the measures of central tendency on the normal probability curve./SETHR HHIG 956 U da g wH & IUrd] &1 glfg-l R
dqcolld [Option ID = 43757]

42) It was the that precipitated the decline of principles of learning/instruction as an approach.

g T forem U &% w0 7 Jiftrm & Rigia & ua & Suen
[Question ID = 18382]

1. study of associated word lists/STa{¥d s Feil HT T [Option ID = 43525]
2. study of brain’s functioning/HT&Tss &t H1I-UEfd ST 3191a [Option ID = 43519]
3. study of mazes / Y@HaGT &1 TG [Option ID = 43523)

4, study of language acquisition/ HTST 3{{ERTEUI &1 34T [Option ID = 43521]

Correct Answer :-
« study of language acquisition, HTST fEAEUT &1 LY [Option ID = 43521]

43) The truthfulness of rational knowledge is proven by referring to the theory of:

THE T B Fegariadr & Rrgr= & digw & Rrg 811 8: [Question ID = 18386]

1. Coherence/ H&edl [Option ID = 43537]

2. Utility /3Ugiffrar [Option ID = 43541]

3. Consequence/JRUMH [Option ID = 43539]

4, Correspondence/3{JFTdl [Option ID = 43535]
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Correct Answer :-
+ Coherence/ HHadl [Option ID = 43537]

44) In Upanishadic dialogues, the onus of asking questions lies on the:

Iufug Hargl #, U4 T8 &7 1w &: [Question ID = 18373]

1. Most intelligent student /& fGH BT U [Option ID = 43486]

2. Both teacher and student/f1&e 3{Ik T ST UX [Option ID = 43484]
3. Students/=T3 TT [Option ID = 43480]

4, Teacher/Guru/f1&/@/TT% TR [Option ID = 43482]

Correct Answer :-
» Students/&TH U [Option ID = 43480]

45) Child-centered curriculum is based on:

qTe-Pisd UTSTPH MR 8: [Question ID = 18403]

1. only discovery./&dd @IS UT [Option ID = 43602]
2. only dialogue./%de aTddld U [Option ID = 43604]
3. only activity./daa Tfafafl 9% [Option ID = 43600]
4, All of these / 4T faed [Option ID = 43606]

Correct Answer :-
« All of these / G4t faseg [Option ID = 43606]

46) The basic principle of gender equality refers to:

At FATar &1 giardt Rigia Hefifa 8: [Question ID = 18389]

1. All men being treated equal to women/¥*t g¥ul § Aigemafl & S¥T&R &deR H [Option ID = 43545]

2. All human beings having equal rights and opportunities/ §+ HI=I & A AfUSR 3 3@ H [Option ID = 43549]
3. All women being treated equal to men /&t afgansif & geul & avra sadgR ¥ [Option ID = 43547)

4, All women being treated equally/5ft Tifg@msit & 0 ¥ § =5agR | [Option ID = 43544]

Correct Answer :-
« All human beings having equal rights and opportunities/ T+t A5 & THM HUFHR R G H [Option ID = 43549]

47) Assertion (A): Philosophy, in comparison with Psychology, provides a more reliable base for the theories related to education.
Reason (R): The base of Psychology is inductive logic, but of Philosophy, it is deductive logic

FUF (A): WA &1 gan 7 g3, Ren-wash Rrgial & fog siftre fRyyaeitg smur Sues S g1
HRUT (R): HAAT BT YR IMTHATHES 9% &, wafe a=f= &1 FArmare® 9@ 1 [Question ID = 18472]

1. A is uncertain and R is correct but R is not the correct explanation of A./A 3ifAf3d & 3fiX R W&l € far=g A & Wél saran R &7 81 [Option ID = 43882]
2. Ais correct and R is incorrect,/A T&! & 3R R 7aid & [Option ID = 43881]

3. Both A and R are correct but R is not the correct explanation of A./A 3R R &I §& € far A ®1 el A& R 781 81 [Option ID = 43880]

4. Both A and R are correct and R is the correct explanation of A./ AR R il Fﬁﬁ % 3R A B H'Eﬁ orE R %I [Option ID = 43879]

Correct Answer :-
- Ais uncertain and R is correct but R is not the correct explanation of A./A 33 § 3R R Hel & foh=g A 1 Wel &T@ R 781 €1 [Option ID = 43882]

48) The term ‘Paradigm Shift’ was first introduced by: /3 "IR18T3H v’ & fda= wwarfaa fFan: [Question ID = 18483]

1. Basil Bernstein/af¥rd @1% 19 [Option ID = 43923]

2. Thomas Samuel Kuhn/4Tog HHU $e- [Option ID = 43924]
3. Albert Einstein/3feac 3lS=<H [Option ID = 43926]

4, Karl Popper/@Td Uiz [Option ID = 43925]

Correct Answer :-
» Thomas Samuel Kuhn/YH¥ 5T $& [Option ID = 43924]

49) Multiple - Choice type items can be useful to know:

Tgfadedl U4l T UGN 98 9= | g1 8 ¥Hdl e: [Question ID = 18470]

1. the evaluator’s evaluative potentials/Jediddl & Hedid &Ha3 & [Option ID = 43873)
2. truthfulness of the learners’ knowledge/faanfifal & T &1 AT @1 [Option ID = 43874]
3. the learners’ thought processfﬁ'ﬂ'lﬁﬁf & " &1 ufesar &1 [Option ID = 43871]
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4, the strengths and weaknesses of learners/ fa=nfifal &1 sifdaal 3R HHWIRGT &I [Option ID = 43872]
Correct Answer :-

50) Collaboration among colleagues is an important aspect for inclusive education in any educational setting. Which of the following
would you relate with defining characteristics of collaboration?

weaiial & dta ggan el it Wfére dx & weaeht Rien ¥ g oo geagef s )1 geah & uivvfa s arelt fadtwanedt & sno o A | feaat
dftra A1 €7 [Question ID = 18449]

1. Decision making should always be with one person during collaboration and accountability should be shared./gd1 & wod Fofg @ @1 amdr g09n te
fad & UTH B! dIfeT 3R SaraGe! WieN & ol 9ifet| [Option ID = 43790]

2. Collaborators should share their resources and expertise./HgaifiTal & 30 TaTeH! R fa=rewarsif &1 T1= &1 91fedl [Option ID = 43789]

3. Collaborators should have separate goals for the same thing they are collaborating fc:r.,l"-HB'EnTﬁ o U dld & ﬁ:’m EB'EnTI Gizd ?% '%;, Rpac ﬁ'ﬂ! JP A&y
JHET-He T &1 F1fed | [Option ID = 43788]

4, Contribution of everyone should not be based on parity./gX [t &1 TRTET FHaT e 8! 8191 91feWl [Option ID = 43787)

Correct Answer :-
« Collaborators should share their resources and expertise./HgaITl & U= LT 3R faEFTaral &1 A= ST GeU | [Option ID = 43789]
51) Article 16 of the Constitution of India guarantees:

URHTT WU &1 3w 16 WATYf H4T 8: [Question ID = 18397]

1. Equality of opportunity and employment for men and women/q&u! 3% Afgameft & fg 3@¥R 3R IR &AM [Option ID = 43576]
2. All of these / T4t fa& =1 [Option ID = 43582]

3. Right to political participation by women/Afgaraf ®1 Ierifds urfierdt &1 sf¥aR [Option ID = 43578]

4, Right to education for all children/@t s=f & fore f1am &1 SR [Option ID = 43580)

Correct Answer :-
« Equality of opportunity and employment for men and women/J%8! 3R Higamaif & fRTT 3fawR 3R ASHIR F FHIT [Option ID = 43576]

52) Universal Design for Learning (UDL) does not consist of the following element:

gfrasfa fewrda wiv affn (upL) & FPafifad om sffm ad &
[Question ID = 18482]

1. Alternative modes of responding/ Ufcfehar & defetes @1 [Option ID = 43921]

2. Alternative modes of presentation/W¥gid & ddfedd d1Y- [Option ID = 43919]

3. Designing instructional plans for making education accessible to diverse learners/fafa fRrenfiat & fren 9@ ggg TWT 91 & U AISIH TIoFT &9
[Option ID = 43922]

4. Similar way of participation/ YT & O @i [Option ID = 43920]

Correct Answer :-
« Similar way of participation/ HTTflgt & THH Tdfd [Option ID = 43920]

53) Buber’'s I-Thou relationship is marked by:

ga¥ &1 #-qu Hay 3ifra ghar 8:

[Question ID = 18404]

1. mutuality, independence & humbleness and respect for power of DthersfﬂTﬁqﬁﬁﬂT, Tl @ TG 3 @ﬂff i gifed & ufd T = | [Option ID =
2, :ﬁ:fiw, existence & direction and an acknowledgement of others/IREaR@ar, 3ifETa 3 famm 3R gart &t st ¥ [Option ID = 43607)

3. presence, warmth & love and independent imagination of others/3Uf®4fd, I™TE @ TR 3R THII & Wad BT 9 [Option ID = 43609]
4. agileness, abruptness & love and independent imagination of others/daedl, MTEHTEEH d UH 3R TERI &1 Wad HfHUEHT § [Option ID = 43613]

Correct Answer :-

. mutuality, existence & direction and an acknowledgement of others/IREINaT, & g faam 3 gavl @1 ifirdigfa ¥ [Option ID = 43607]

54) Paulo Freire educated poor farm workers in his native country, Brazil, in order to help them improve the conditions in which they
lived and worked. His approach to education may be called:

IS Y A U R Frelta X1 # e @ & Auige! &1 Rifda o= Rufedt § gur +3 & e o 3 e 4 o e a3 R F ufy
I°% TPHIT B FET 9T THT 8: [Question ID = 18466]

1. Constructivism/~d41dTg [Option ID = 43858
2. Social Reconstructionism/aTHTfeids TAMHTN [Option ID = 43857)
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3. Progressivism/ WTTa2iierdl [Option ID = 43855]
4. Essentialism/dif@@®arg [Option ID = 43856]

Correct Answer :-
« Social Reconstructionism/ETHIsi® GAFATUN [Option ID = 43857]

55) A child’'s notebook shows errors in writing like reverse images, mirror imaging, etc.
Such a child is showing signs of:

TS 91a® $1 a@AYTHT (Aegd) 39 awq ¥ fiudw wiafda, ufafera o=t gfeat e 21
U1 qTa® (AAffad @&ior g=ITar 8: [Question ID = 18480]

1. Learning problem/ 3TERTH THET &1 [Option ID = 43912]
2. Learning disadvantage/ SfeT &ff ol [Option ID = 43914]
3. Learning disability/3f&RTH &7 &1 [Option ID = 43913]
4, Learning difficulty/ 31T &Hf&-T% &1 [Option 1D = 43911]

Correct Answer :-

56) A child is repeatedly comparing the size of his cake with that of his siblings. Montessori saw such repetitive behavior as an indication
of:

UF T IR-9R AU FF & ATHR P a1 30 HIE-d81 & $P & ATHR & WY BT 361 8| Hiewd & I0R 59 8 & AIeR &1 TARIadl gt
8: [Question ID = 18374]

1. Selfish interests and paranoid tendencies that education has to challenge. /Tt fgdf 3 SrHET F1 U‘qﬁl forat faren &1 qﬁ?ﬂ TR [Option ID = 43487]
2. Blocked mental abilities that education had to improve./3@3iftd WHEE &y forg fRem &1 URAT U811 [Option ID = 43491)

3. Spontaneous exercise of the capacity to demand personal welfare./@afGaTTd ST S AT & el & &1 Yeoldl T WAT| [Option ID = 43493]

4. Spontaneous exercise of the capacity to make quantitative comparisons./HHATHE o1 1M & U & &1 ges wani [Option ID = 43489]

Correct Answer :-
+ Spontaneous exercise of the capacity to make quantitative comparisons./HTT&d e &1 & foTU &Md1 &1 HgW UART| [Option ID = 43489]

57) National Curriculum Framework (2005), Position Paper on Work and Education defined generic competencies along three dimensions.
Which of the following is not the correct definition?

PIT Uragayl ®1 FWET (2005), F1A 3R RGN WX YR 97 A WHE qararsd St = smarH # aRvwifta fasan) Fra # @ o1 o 98t oy =81 82
[Question ID = 18377]

1. Basic competencies relate to the personal attributes necessary for undertaking any task/HJeHd Ga&rard afadra fagarsi @ ddafia €, of et oft ard 31
I T & (oY IS il & [Option ID = 43495]

2. Interpersonal competencies relate to the social aspects of any task/aRERE Haei 9 Gjépl geand fedt ft &1 & grfores ﬂsﬁjﬁﬁ ¥ Hafed gidt %’ [Option
ID = 43499]

3. Systemic competencies relate to the capacity for working in changing contexts/SUTTETd Gafdrd el 1 ggo- o ST & B &Hal T Yafed gt &
[Option ID = 43501]

4, Complex competencies relate to the skills necessary to undertake any complicated task/Sfed gedrd 3avad ®al o Haftd €, o et ot sfeq &l &
& H- & fo1U GG Bial @ [Option ID = 43497]

Correct Answer :-

« Complex competencies relate to the skills necessary to undertake any complicated task/Sifed &/ 3awae He ¥ Faftd g, of fedt of ofeq arf
I Y= B & [0 ATa9AF Bial § [Option ID = 43497]

58) "Can the mind, so heavily burdened, resolve completely, not only its conditioning, but also its fears”? Who said these words?

T W ST | 9T g3 7, T @RE ¥ PRSI0 $% 9adr 8, 7 ad 590 P b, 9ied 59 S BT W2 A ¥ fF $82 [Question ID =
18394]

1. Montessori/Hi¢E! [Option ID = 43567]

2. Froebel/WIT&d [Option ID = 43569]

3. Sri Aurobindo /41 3Rfdg [Option ID = 43573]
4. J. Krishnamurti/st qmqﬁ-f [Option ID = 43571]

Correct Answer :-
« . Krishnamurti/S F9Mfd [Option ID = 43571]

59)

collegedunia:s

India’s largest Student Review Platform




Mote: Based on the data given below, answer question
7 Ru v aiest § araw 9 wr &1 I E: T

Gross Enrolment Ratio (GER) 2014-15

AR ATHISA #-9d (GER) 2014-15

Level All sC ST
@I st sghRa snfa FgRe sa=nfa
Male Female Total Male Female Total Male Female Total
| ufger | ¥ w | wfeer | §w W wigem E o
Primary (I-V) 98.9 101.4 1001 | 1107 | 1132 1119 | 1106 108.2 109.4
aratis
Upper Primary (VI-VIll) | 87.7 953 91.2 97.2 105.5 101 93 95.2 94.1
9t grafis
Elementary (I-V111) 94 8 99.2 96.9 1058 | 1105 108 104.4 103.7 104
Secondary (1X-X) 78.1 780 785 81.6 83.9 82.7 718 726 72.2
e
Senior Secondary (XI- | 546 538 54.2 535 55.3 54.3 398 37.8 388
xii)
Iguc ursafis
Higher Education 25.3 23.2 24.3 20 18.2 19.1 15.2 12.3 13.7
3y frar

Source: Table developed from Educational statistics at a glance

(http://mhrDlgov.in/sites/upload files/mhrd/files/statistics/ESG2016 0.pdf)

Total GER at primary level is greater than 100 across categories. This is because:

fafira Aforat & wrufire wR W $0 GER, 100 ¥ 3ifU® 81 98 & TifF: [Question ID = 18438]

1. Calculation of Gross Enrolment Ratio indicates the total number of students enrolled, irrespective of their age, divided by the number of children of the
age group to be enrolled in primary education,/S&d ATHIG SFUTd P1 T0FT &1 314 €, fa1 3y Y ware v oolted ol o1 den & wufis e &
UH oY I & T $i TE ¥ [Fuifera &¢A11 [Option ID = 43749]

2. Data presented is raw and has not been scrutinized for errors./JId ids &l & 3} Ffedl & ¢ B gl @I 718 &1 [Option ID = 43743]

3. Enrolment has increased after implementation of RTE Act (2131]9}.!311?7:% sfferfs {2009) %?amsﬁ & dg AHE g ] 'EH [Option ID = 43745]

4, Schools would have reported excess enrolment of students to present a good image of themselves./¥Gd! - g 1 Ud Hwd! B Ud H & o i &1
3t AHi®H &1 g1 &1 8| [Option ID = 43747)

Correct Answer :-

» Calculation of Gross Enrolment Ratio indicates the total number of students enrolled, irrespective of their age, divided by the number of children of the
age group to be enrolled in primary education./F&d ATHIGA AU B 701 &1 31 &, faT1 3y &t ware v ushed aEl &t v & wuftis fien §
U g o7 & S Bt G& ¥ fQuiferd 11 [Option ID = 43749]
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Mote: Based on the data given below, answer question
7 Ru v aiest § araw 9 wr &1 I E: T

Gross Enrolment Ratio (GER) 2014-15

AR ATHISA #-9d (GER) 2014-15

Level All sC ST
@I st sghRa snfa FgRe sa=nfa
Male Female Total Male Female Total Male Female Total
| ufger | ¥ w | wfeer | §w W wigem E o
Primary (I-V) 98.9 101.4 1001 | 1107 | 1132 1119 | 1106 108.2 109.4
aratis
Upper Primary (VI-VIll) | 87.7 953 91.2 97.2 105.5 101 93 95.2 94.1
9t grafis
Elementary (I-V111) 94 8 99.2 96.9 1058 | 1105 108 104.4 103.7 104
Secondary (1X-X) 78.1 780 785 81.6 83.9 82.7 718 726 72.2
e
Senior Secondary (XI- | 546 538 54.2 535 55.3 54.3 398 37.8 388
xii)
Iguc ursafis
Higher Education 25.3 23.2 24.3 20 18.2 19.1 15.2 12.3 13.7
3y frar

Source: Table developed from Educational statistics at a glance

(http://mhrDlgov.in/sites/upload files/mhrd/files/statistics/ESG2016 0.pdf)

Which of the following inferences is correct?

Frafifea & @ o= w1 fFreed WEt 82 [Question ID = 18436]

1. More females than males across categories are unwilling or unable to pursue education after senior secondary level. /gt &for ff, Q'Fﬁ Gl LRI 'EL SIDES

Higand I=qr mefte TR & are e &1 ot ggF § sifFsge a1 s/mm €1 [Option ID = 43735]

2. No inferences can be drawn as the population figures across categories are unknown./fafts Sfordl o SHEE & sfids 3T & STMAT HIF 3THH T8l

T O el &1 [Option ID = 43740]

3. The percentage of females of 5T category at primary level is lower than males whereas the reverse is true for other categories. This is an indication of
strong anti-female bias in tribal population./ST4fde® R TR T St ot @t Afgerst o1 ufdwa goul & ga # &1 8, 9afe 39 4fodi & forg
3T 3l faudla 5 81 U8 snfeardt sardt & nigensi & faiht o yaiue &1t Hdd €1 [Option ID = 43736]

4, The GER of SC is 20 and ST is 15 which is higher than the percentage of seats reserved for them in higher education. This indicates that the purpose of
reservation has been met and reservation policy can be done away wim.f&ﬂﬂfﬁ'ﬂ W1 #1 GER 20 § 3R &Wﬂ S @t 15 ¢ Sl 3= fRien § 39
fore geférg et & uferera & ga 7 sifie &) g8 Fardr & i SiRemn &1 ydie 9hd 81 8 3% sRer Hifd &1 /e @ faar o1 wdr 1 [Option ID =

43738]

Correct Answer :-

« More females than males across categories are unwilling or unable to pursue education after senior secondary level. /4t Wﬁ, W G4l e iT,

61) Note: Answer Question based upon the Table given below.
e W dsaT &1 guc o Tt aroelt % sea #

Trends in Gender Parity Index (GPI)
i gwmar gawis (fidiad) & wf

3iftres Afgent Ieaa aedfie R & 91g a0 &1 o ggH ¥ sifFsge a1 sramy &) [Option ID = 43735]

. Primary Secondary Tertiary
2010-11 101 0.88 0.86
2011-12 1.01 0.93 0.88
2012-13 1.02 056 0.B9
2013-14 103 1 092
2014-15 103 1.01 0.92

The Gender Parity Index (GPI) is the ratio of the number of female students enrolled at primary, secondary and tertiary levels of
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« The enrolment is favorable to females in these years./39 @8 § ATHiE-, Afgarsfi & e 3/FH @11 [Option ID = 43767]

education to the corresponding number of male students in each level. Thus GPI (based on GER) provides a picture of gender equality in
education. The given table represents the GPI at all three levels during 2010-11 to 2014-15. Based on the Table, at which level has there

been consistency towards gender parity in education?

fei WA YEeie (Sdiens)(GPI) Afgen Bl @1 WEn & U d Td® WX d U3Y 13 &t 5u1 Uen & e fRign & wufas, arafis ok 3aw
w1 W fore e &) guifar 81 59 U9 R GPI (GER & 3TUR W) fien & &= # <ffre aur=ar &1 guifar g1 & it wwoft 2010-11 & 2014-15 F &=
4 9 w1 w 6PI &1 ufefifire st 21 aroh & snuR ww fRran & &7 A f5a w w dffre ga9ar § U1 82 [Question ID = 18443]

1. Secondary/ A1eafi& [Option ID = 43764]
2. All of these / T3t fa@ed [Option ID = 43766]

3. Primary/9T4f¥& [Option ID = 43765]
4. Tertiary/J=IdX [Option ID = 43763]

Correct Answer :-

+ Primary/WT4fH& [Option ID = 43765]

62) Note: Answer Question based upon the Table given bélow.

e W dsAT %1 Iuc o it arolt & s 2

Trends in Gender Parity Index (GPI)
i gomar gawis (fidiad) & wfy

= Primary Secondary Tertiary
STaTaE AT TRE I
2010-11 101 0.88 0.86
2011-12 101 093 0.88
2012-13 1.02 0.96 0.B9
2013-14 1.03 1 092
2014-15 103 101 0.92

In 2014-15, the GPI of primary and secondary level has crossed 1, this indicates:

2014-15 ¥, wufire 3T Areafire R $ GPI, 1 TR $% Tt 8, 98 £fra a1 & fF: [Question ID = 18444]

1. The enrolment is favorable to females in these years./24 aﬁfﬂ‘qm‘m, H‘Fﬁ?ﬂﬁﬁ & i%l'ﬂ,’ 3% el [Option ID = 43767]
2. The enrolment ratios at all three levels are disappointing./ ¥4 d19 wRi & A10is &1
3. The drop-out of both genders is same at these levels./ §7 &R T g fel & faeneaa Sie= aral &1 @@ tHHHE 21 [Option ID = 43768)
4, Students are not enrolling at tertiary level./@= J=aR WX W YW 78! & T8 &1 [Option ID = 43769]

Correct Answer :-

63) Note: Read the passage given below and answer the question
e T aEEs @ st e F Ry s s gae dee

One way of looking at the world as a8 whole is by means of a map, that is to say some sort of a3 plan or outline that shows

where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration is its beginning.

Az has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during

the later stages of investigation but they will never retrieve the situation.

T FT T TES T UF AW OWET F OanT 5§ 99 U YER f1 g9 FEar e a9 gy s
& #1 fafer aegd w=w0 swwsw g1 - off aeqd 797 smew § w6 ow wWtew e e Seer o = oa
AEAT, T F FEqE A7 @@y ygw f e guE ¥ w0 ¥ omypw f f: Rfiw diwfw dw 7 3 5 v
GrEAT A8 ST suar a2 F g W A7 Wy yioar @edww fr Rl # @ oardth G o @ ow o
TEET W IEET aTw &1 BT 19 7 Tpwr vy 47 g 972 wew swEr seEEiow sqeww £ AT q#r E
ar ik 9 et §f oRw B &1 o g ff e & By % =t o7 owx fer o, @ off Rl o

U AT AT FEAn

3UTd FRTEmSHE 81 [Option ID = 43770]
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« At the end, as the beginning was superficial./3fd T, Fifd Y[E37d ae! U1 [Option ID = 43992]

What kind of map is the author discussing?

aa® fra voeR A Staai st 22

[Question ID = 18501]

1. A map where most prominent things and orientations are given./Te UET AR forgd wed Heayyl a4l ud f3m <=ig 7€ €1 [Option ID = 43998]

2. A geographical map with proper directions./@Teg AT 3fad fazmait fgd) [Option ID = 43995)
3. A physical map showing contours./*ifd@ AT gY@ G=Iidl g5 1 [Option ID = 43996]
4. A religious map showing all religious places/Ud eTfHes WA Tyt enfife wial & iar g3 [Option ID = 43997]

Correct Answer :-

« A map where most prominent things and orientations are given./U& UHT A3 foaH Wad Hew@yul axd ud fe=m 22ifs 72 €1 [Option ID = 43998]

64) Note: Read the passage given below and answer the question
e i & s 92 &l ae F Re g s g

One way of looking at the world as a whole is by means of a map, that is to say some sort of a plan or outline that shows

where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration is its beginning.
As has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situation.

it F7 TinET AT T UF AW UWEE ¥ A 30§ 39T UF YW 47 AT o9aT A= S5 gy =T
ALY, 9] X FEqC A G99 vE R gmE ¥ ey F mpwm A g AR dwEw dw ¥ 1 6 @
rEAT AEl AT SwET 9fF F ge W a7 a9 [ioar #wdwe 0 fal # o owwn G o @ o5 oame
g W IEET @riw & BT f1 %9 ff apar vy 9v g 92 wew srwey senEEiow semrw £ AT qET E
Fr Rx T Bt & wRw B 7 swEw 9w f 9 £ R F w6t 7 ac Rem 9w, 9 o Rafr &
Furr T o Fwn

When can the situation not be retrieved?

fRufa t Fa gurT =7E1 51 aFHar?

[Question ID = 18500]

1. When the people are not cooperating./oTs TR FaT el B2 G| [Option ID = 43994]

2. At the end, as the beginning was superficial./3{d H, @ifd YHad Fdel 4TI [Option ID = 43992]

3. At the end, as the conclusions are undesirable/3fd §, @4ifes fspy s9gad §1d 1 [Option ID = 43991]

4, In the middle, as the researcher left it incomplete./ A& H, Fife wheurdf 5@ &= & €1 ©is & =@ 7411 [Option 1D = 43993]

Correct Answer :-

65)
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Note: Read the passage given below and answer the question
Re v 5 srags @i A F B s w1 sw dEa

One way of looking at the world as a whole is by means of a map, that is to say some sort of a plan or outline that shows

where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration is its beginning.
Az has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situation.

gfat =1 pirar 289 1 oF o9 oWl F e 50 § suiT o Wi 1 aewr sger e g ssi
g &1 e aogd %t swesy gt - oft 9w A9 gEv ff w=iF a9 aefEe e fBw Goer = &
T, Y T IS N wEE E § e ogmE ¥ e ¥ wgw &1 g R dwfw dw 7 3 A e
AT ARl AT sgET 9fE F g Wi ar i [ioar aedww &7 e ¥ w o G ofr @ o5 g
AEEl WR IEET iy & g &1 RW f7 9pwr Fr v g, 372 Tew aweT s e fT 9 9 A,
ar fix = Bl & wftw BfE &7 s oy oG i Rafy F =t 7 o B o, o f Bl oW

qETO TE AT FEE

What is the relation of the map with perplexity?

WA T g & F1 == 82 [Question ID = 18498]

1. Directions are not shown in the map./ THfeE # fgzm Ay =18 €1 [Option ID = 43984]
2. The map is not clear./ |- ¥ i gl [Option ID = 43983]

3. The map is not colorful /AT T 78T 81 [Option ID = 43986]

4. Prominent things are not shown./WH%@ d& & 2217s 75 | [Option ID = 43985]

Correct Answer :-

= Prominent things are not shown./UHdE Elﬁﬁ el &% |§ Tlél [Option ID = 43985]

66) Note: Read the passage given below and answer the question
e iy & amEs # d ae F Re mwr ga &6

One way of looking at the world as a whole is by means of a map, that is to say some sort of a plan or outline that shows

where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration is its beginning.

As has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during

the later stages of investigation but they will never retrieve the situation.

gHET #r imaT @A ¥ UF AW OWfAA ¥ AT 3 § 9l UF YR f7 AT ser e W gy i
g #1 e aegd #Rt sveey g6f - oft aegd A, sEsw ff wifF 3 awtEw s e GEer s
WA, ICY A AFqC AT wW vy g fiar wuw % e ¥ wgw v g fAbe dwtEw dw 7 3 6 e
GrEAT ARl AR T I F gE AW O w7 Tioar gedwg #r ey F w e G ff 99 o5 ow=w
REAU WW IEET AW A g7 B RW £ IEyT FE AT g, 4R T F9aT FAEEF qEAT F AT TH O,
AT d e R T sy s fHr v =t 7 3t B a7, ov & fRaflv =

qITO FE AT AEA

Why is it that rigorous methods may fail?

wfew faft srawe w4) € Wl 82 [Question ID = 18499]

1. Proper method has not been chosen./ Juga faie @1 9-1d =Tl 3111 [Option ID = 43988]
2. Superficial beginning has been made./Sdg! HHTI &1 TS 81 [Option ID = 43990]

3. The results are rigorous. /et W2 81 [Option ID = 43989]

4, They are not properly applied./3-eT 3ffd ¥4 ¥ FUTIN gl §3M1 [Option ID = 43987]

Correct Answer :-
« Superficial beginning has been made./ddg! YE3Td B! T B [Option ID = 43990]
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67)

Note: Read the passage given below and answer the question

Ry s & sas 9 @ik 3w F R v e s S

One way of looking at the world as a whole is by means of a map, that is to say some sort of a plan or outline that shows
where the various things are to be found - not all things, of course for that would make the map as big as the world, but the
things that are most prominent, most important for orientation: outstanding landmarks, as it were, which you cannot miss or
which, if you do miss them, leave you in total perplexity. The most important part of any inquiry or exploration iz its beginning.
Az has been pointed out, if a false or superficial beginning has been made, one may employ the most rigorous methods during
the later stages of investigation but they will never retrieve the situation.

At 1 piTaT 3=9 FT OF On AWEE ¥ O 30§ sl uF vER £ 99T ey G . gy s
7 &1 fAftw aogd #%t suesw €Ff - oft 9w 99 sEew ff =i a9 aefEe o B Goer = oA
AL, 9] X AEIC A G99 vE P gmE ¥ wv F mpwm # g AR dwtEw dw ¥ 3 5 e
WEAT A%l AET S9ET qfe ¥ g WA or w9 odr g@dww #r ey & @ wSwtn & o s s oa=a
RgEl 9T IEET 4w & g &1 #9 f7 9pwr FEr oAy g 972 vewm aver sy sqemw fF 9 9 A,
o1 fix =% ot & oftw Bf &1 a9 aw #F 9w & Rafd =t 7 = Far @, @ o Rel ow

qTT FE AT FEE

Why should all things not be shown on the map?

17t aegait &) At o) ot Y gufar S & ar? [Question ID = 18497]

1. People are not interested in everything./@rT & $fa Wt axgaff o =€ g1t [Option ID = 43980]

2. People want to choose. /@17 I-Td ST 918d & [Option ID = 43982]

3. That will make the map as big as the world./39% AHf= fay a1 81 81 ST [Option ID = 43979)
4. Those making maps have to choose./ATAe THdT ®1 TATd HA1 81T | [Option ID = 43981]

Correct Answer :-
+ That will make the map as big as the world./288 AFfE fay fSra=n a1 8 ST [Option 1D = 43979]

68)

Match the following items of List | with List || and indicate your answer with the help of the

code given below:

Listl Listl

a) Punishment 1 Events that precede an action

b} Operant 2. Voluntary behaviors emitted by a person or an
animal

C) Antecedent 3. Process that weakens or suppresses behavior

4. Providing a stimulus that sets up a desired
d) Consequences behavior

e) Cueing 5. Events that follow an action

[T | T HHT 1 & A A HY AT HIAT Iead 19 BT T HiE Ay § e

Ul =

a) &3 1. GEATRA F 1 & T 7

b) FRIT-SHe 2. FTCO® cOagn 1 Tl SuTed 1 Fi-aT ZarT
ERECi i

SECCIG 3. 9iehdT il SO9ER &l HHGAR AT 1A B

d) B 4. U GiTGd CUagR @I (Aaiid ®i & [oT oAl
Scchora T JaY Y

&) HFd S. BCATHRH A T 18 T Tew F1

[Question ID = 18424]
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[Option ID = 43691]

—
L

o N o
=

o w Qo
=

aboc =

2.2 3 3 1 4 [option ID = 43693]
abc de

3.1 23 %3 [option ID = 43687]
abc de

4, 3 4 5 2 1 [Option ID = 43689)]

Correct Answer :-
abcde

« 322154 r0option ID = 43691]

69)  Answer the question based on the data given below:
wr ¥ It RufafEe awet § aaw w &R

Mean Marks out of 100

100" & dug s
Marks in Subject Student A Student B Student C
faww o aiw oot A faurdt 8 faemft
Mathematics o 59 100 60
English et 89 79 90
Account ancy HErFaTE 88 90 91
Business Studies S9W WS04 80 82 82
Economics SENTE & = e

If including the marks of Mathematics is compulsory for admission to B.Com in the University of Delhi, who amongst the three is most

likely to get admission on the basis of marks in the best four subjects?

gfe feeeht fayfaemeg & fwia ureTwy ¥ wadw 3 7foe & st & wmfera fear s sffard 8 @, e oy e e o fauat & wre il &

3MYR R 41 fenfial # | f5ad vaw e #37 #1 TUEaAT 82 [Question ID = 18442]

1. Both Student A and B/fgenmdf A 3z fdendf B GI5f [Option ID = 43761]
2. Student B/f=mdf B [Option ID = 43760]
3. Student cri%mﬁ C [Option ID = 43762]
4, Student A/ faemef A [Option ID = 43759]

Correct Answer :-
« Student A/ fa@nf A [Option ID = 43759]

70)
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Match the famous sayings of List | with Philosophers in List Il and choose the correct answer using the codes given below:

List |
1.1 think therefore | am

2. The unexamined life is not worth living

3. Man is born free, but is everywhere in chains

4, Happiness is the highest good

o 1 # Ry o sfe Fat w1 o 0 Ry o oeifEst @ fAew w1t o 9 B oaw o Fiw o oawEn &=

ELUEL S oF

il

1. % |rar g e & f

2. fo=T waT dEw o AmE TR A

3.9 TOA HIT g 2 TGE §C g wART H g

4 75ft 33w I=E £

Choose the correct answer:

R IOC T
[Question ID = 18400]
1 2 & 4
(i) () (i) ()

1. [Option ID = 43591]

1 2 3 4

5, (i) (i (0) (i)
L2 & =

[Option ID = 43593]

3, 0 W I rontion 1D = 43595]
i % 8 @&

4, W)W )@ roption ID = 43597]

Correct Answer :-
i 2 3 &

, G ) ) )

71)

(i) 11. Rousseau

(i) Arictotle
(iiljRene Descartes
(iv) Socrates

(i) 3 & =47

(iii) & FEIE

[Option ID = 43593]
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Match the following

SetA SetB

1. Gender Role Identity a) Researches have found that boys are given more freedom to roam
around the neighborhood, and they are not protected as compared to
girls, from potentially dangerous activities such as playing with sharp
scissors or crossing the street alone

2. Gender Bias b) Through their interactions with family, peers, teachers, and the
environment in general, children begin to form and organize networks of
knowledge about what it means to be male or female

3. Gender Schemas c) One study found that before 1970, there were four times more stories
about male characters than about female characters in most of the
textbooks, produced for the early grades

4. Gender-Role Stereotyping d) The image that each individual has of himself or herself as masculine or
feminine in characteristics, is a part of self-concept
e} Confusion in both males and females about who one is and what one
wants
f) Complex answer for both males and females to the question "Who am
r?

Faffay 5ot =1 399 dF9e 7 few fi5T -

7T A @ B

1 ¥ afwr A s) TSt F wET waT & B wEst wr wEw ¥ w7 aww
wadaar & 9T g s o) WEfEEt A A e §Rt 8 ae
FAT FHEN TEF T FA AAT AW WAOGTE AT o S
Tar Zar W mm

2. 92T I b) 9E, aagg, BreEt @t g €9 ¥ amEor F @ g9
sm: fEamt oo avers/ e, gew ar o gWT W oG & %
gy & w9 FT @FR 3 @S F oESgy ATaF A A
Ly

3. #=T ofmr ) TF wgTT ¥ W EW % 1970 ¥ e wifvE wwmw ¥ Mg

i afider =7 wost # S-vmt § Fw @Y T &
qEfE wgrAal T ETAEE gt dn

4. F=x qfasr T sEaTom d) 3w st ¥ aftmet ¥ 37 & w9w =fF T =7 &
wfa srdweaAT w7 fBear g6 2
e) 57 T fEgieqt # @ A & duw & =fF 59 & & =

g ]
figew =i famtEmT & g F =19 g v w1 3o 9w g

[Question ID = 18489]

1. 1-b, 2-c, 3-d, 4-a [Option ID = 43948]
2. 1-d, 2-e, 3-a, 4-f [Option ID = 43949]
3. 1-a, 2-c, 3-e, 4-d [Option ID = 43947]
4, 1-f, 2-d, 3-a, 4-b [Option ID = 43950]

Correct Answer :-

72) Subject centered designs revolve around:

fawa $f=a wuv@r $f=d 8: [Question ID = 18465]

1. Learners/fR1&mdf % [Option 1D = 43851]

2. Social problems/ TS THETHT TR [Option ID = 43852]
3. Social values/SMHTTaS Hed U3 [Option ID = 43854]

4. Content/ | UX [Option ID = 43853]

Correct Answer :-
« Content/ |TH U [Option ID = 43853]
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73) 'The notion of equality of educational opportunities can only be implemented in the context of disparities existing in the social
environment’. In the context of this statement:

Qe raERT Ft THHGT B YRV Had AHINS Irarawor § Hivlg saArarsit & g5y # & fraf<a &1 on 9odt 81 360 o943 & g #:
[Question ID = 18493]

1. Both 'Agreement is democratic' and 'Non-agreement is democratic’ are correct. /IgHd AlddiH® ¢ 3R 'STeHd AidbdiE® &, Gl el & [Option ID =
43965]

2. Agreement is democratic/IgHd @@ diAd €| [Option ID = 43963]

3. Neither 'Agreement is democratic' nor ‘Non-agreement is democratic' is correct./ T8l ThdiE® ¢ AR '3EH Abaia® ¢, &H Hel 7ai ¢/ [Option
ID = 43966]

4. Non-agreement is democratic/ 3GgHfd @idif3e® &1 [Option ID = 43964]

Correct Answer :-
« Agreement is democratic/TenAfd A diAd &1 [Option ID = 43963]

74) "Tagore's legacy is the view that education is always developing, an emergent creation, ever-evolving towards

R &Y farrara e @ o fran edwn Rerasfta 8, ve g ==, & 1 3k e Ifeerd @1 21 [Question ID = 18370]

1. Physical man/2miiftes safet [Option ID = 43471]
2. Personal man/afaaiTa aafad [Option ID = 43473)
3. Universal man /fd%aamdl =afed [Option ID = 43477)
4. Spiritual man/ 3@ ® aafdd [Option 1D = 43475]

Correct Answer :-
+ Universal man /fagaardt aafdd [Option ID = 43477]

75) Doubt as the basis of knowing was propounded by which of the following thinkers?

TG &1 69 & MUR & 9 § Ay § 59 fene 2 ufearfea far 417 [Question ID = 18496]

1. Russell/XH¢l [Option ID = 43977]

2. John Locke/SiiH ®i& [Option ID = 43975]
3. Descartes/S®Te [Option ID = 43976]

4. Aristotle/3¥%] [Option ID = 43978]

Correct Answer :-
« Descartes/S®T¢ [Option ID = 43976]

76) Operation Black-Board Program was introduced to improve:

AT P-4 HrdeH P dgay a1 & forg WY faT 741 UT1 [Question ID = 18502]

1. Secondary Education/ATef¥a f&m [Option ID = 44001]
2. All of these / 4t fa@ed [Option ID = 44002]

3. Primary Education/STuf#e 211 [Option ID = 44000]

4. Teacher Education/f1&f@ f1& [Option ID = 43999]

Correct Answer :-
« Primary Education/WTuf¥es f21&m [Option ID = 44000]

77) Which of the following is not true about quantitative and qualitative data?

Frafaf@a & @ o9 91 S AT 3R uTEe Tl & e A 9 781 82 [Question ID = 18450]

1. Qualitative data deal with apparent or implicit qualities. A[UTEH® e TP T1 3P 70T & 9 &d €| [Option ID = 43793]

2. Qualitative data deal purely with numeric values./TUTT#@® 3¢ fTg 0 A TEIHS HH ¥ 92 €1d &1 [Option ID = 43794]

3. Quantitative data are based on measurable quantities./ATET® e HIY- T HET W TG 8id &1 [Option ID = 43791]

4, Quantitative data are measured using tools or instrumentation yielding values./HTATE® el BT HOH, IUHIT U7 JUHIV SUTHMAT &1 Iugi & i
STl 1 [Option ID = 43792]

Correct Answer :-
« Qualitative data deal purely with numeric values./TUT&® e s g F9 § T@EE 0 4 92 €1d €1 [Option ID = 43794]

78) Which of the following is the correct description of the stage as presented in Kohlberg's theory of moral development?

Frafaf@a & & o= w1 Plgcad & Afoe e $ ol &1 9g a0 82 [Question ID = 18461]
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1. Obedience and Punishment orientation is concerned with evaluating one’s own behavior with existing rules./ 3TSTaTIal IR g8 AU &1 WHR
oA Ol & W1y 39F WY & SI98R & Gedidd § €1 [Option ID = 43836]

2. Social Contract and Individual rights orientation is concerned with behavioral consistency with one’s own ethical ideals./STaTfora Hfder 3R safgamra
ISR HfUfTTR &1 SR 30+ AfaF e & 1Y TGRS i I g1 [Option ID = 43838]

3. Good Boy/Nice Girl orientation is concerned with approval — disapproval of others and family standards. /33T TTS®T1/ 33! Te®! AU & WSHR 3=
ATl & SHIEA/ STHEGA § 99T UG O@! 9§ §1 [Option ID = 43835]

4, Law and Order orientation is concerned with avoiding punishment, and goodness of own behavior in the form of consequences./$T-1 3R aaRT

NG T PR &8 ¥ F94, ol & 39 H 30+ s09eR &1 331 ¥ g1 [Option ID = 43837]

Correct Answer :-
+ Good Boy/Nice Girl orientation is concerned with approval — disapproval of others and family standards./ 351 T/ 3w TS HHETTT HT WHR
3 AT & STHIG/3MHIE ¥ auT uTiaiiies AHa] ¥ g1 [Option ID = 43835]

79) Which of the following National document advocates delinking of degrees from jobs:

Prafifea & @ -1 vt gwaray RERr &) Srefal @ R srige S &1 AT a1 82 [Question ID = 18469]

1. National Policy on Education (1968)/T81a fi& =fifc (1968) [Option ID = 43867]

2. National Policy on Education (1986)/ T@H f2r&f Hifd (1986) [Option ID = 43868]

3. National Curriculum Framework for School Education (2000)/fa=erdt frenm 3 for rdta rereal =9 (2000) [Option ID = 43869]
4. National Curriculum Framework (ZGGS}F@H urTEa] FuEl (2005) [Option ID = 43870]

Correct Answer :-
« National Policy on Education (1986)/ 1§ fRraf =fifdf (1986) [Option ID = 43868]

80) Which of the following situations appropriately represent a disability which has become a handicap?

Frafefaa § @ ofa-0 oifRufy 0 siemrar &1 ufafafire s @ o RewiTar a1 99 82 [Question ID = 18460]

1. A visually challenged person requiring a Smartphone App to read a menu in a restaurant/zfPaTed safaa grRI ¥l &1 ﬁ’ifﬁef @ feg WEHH g &1
JUIRT HIAT [Option 1D = 43834]

2. A visually challenged person wanting to compose music/EBaTId Sfdd -1 Tiiid-39- &1 T4 &1 [Option ID = 43831]

3. A visually challenged person trying to talk on the phone/ElFETitd Sfad gRT BIH U 91d & &1 U™ &1 [Option ID = 43833]

4. A visually challenged person trying to drive /ef¥aTied safad g1 arg= I@ &1 WaTH 631 [Option 1D = 43832]

Correct Answer :-
« A visually challenged person trying to drive /¥ @i safa gRT aTe= I &1 WA &1 [Option 1D = 43832]

81) Which of the following does not fall under Open Educational Resources (OER) repositories?

e & & o19-91 gaa e daru= Tue (Fw) # afmfea 7€ 82 [Question ID = 18486]

1. Videos of National Repository of Open Educational Resources (NROER)/A2-d Frait 3fftp ofiu= toihrd freieet (NROER) & dif&dl [Option 1D =
43935]

2. Videos of National Program on Technology Enhanced Learning (NPTEL)/~SI-d WRITH 317 EaTaiiall UT=B1%8 @1 (NPTEL) & difST! [Option ID = 43936)

3. Videos of Open Education Consortium/ 310 US[hR-a SiTaifedd & dif$al [Option ID = 43938]

4. Videos of YouTube standard license/Jcid ®USS aged & difadl [Option ID = 43937]

Correct Answer :-

« Videos of YouTube standard license/ded ®USE A58y & dif$al [Option ID = 43937]

82) Which of the following is NOT true regarding Maslow's Theory?

fFrafafad @ o9 a1 $y=7 Ava & Rigia ¥ fog 9w 78 82 [Question ID = 18423]

1. Basic requirements for physical and psychological well-being/ ITRIR® 3R FAIGTIHE WY & g6 HaGadl [Option 1D = 43681]
2. Need for knowing, appreciating and understanding/ ST, T8 @3- R THZ &1 &1 TGl [Option ID = 43679]

3. A person’s desire to develop to his or her full potential/ Ue sfad & U+l Q1 &el & 3HR fawTd g9 &1 3531 [Option 1D = 43683]
4. Need to live in isolation in old age/ SgTd H 3faTd H Y&+ &1 TGl [Option ID = 43685]

Correct Answer :-
+ Need to live in isolation in old age/ §gTd H eI H I6- ®! HTa=Tddl [Option ID = 43685]

83) Which of the following is not an agency of socialization?

g & & #19 JATeieI $T1 U@ 3ifisur A8 82 [Question ID = 18381]

1. Family /9f¥@R [Option ID = 43513]
2. Genetic makeup of humans/ H-5 1 3TEiAI% §41G¢ [Option ID = 43518)
3. Peer group/SgUTd! §HE [Option ID = 43515]
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4. Media/Hif&a1 [Option ID = 43512]

Correct Answer :-
+ Genetic makeup of humans/ B9 @1 3T-gif2e &91a¢ [Option ID = 43518]

84) Which of the following is not associated with behaviorism?

fFafafea & ¥ 19 91 rggrRare ¥ 987 781 8: [Question ID = 18457]

1. Skinner box/f&s=¥ dfad [Option 1D = 43820]

2. Free will/Hd g=31 [Option ID = 43822]

3. External rewards/sTgl Q¥¥hRR [Option ID = 43821]

4, Programmed learning/ i (U0TS) 4fETH [Option ID = 43819]

Correct Answer :-
+ Free will/gdd $=3T [Option ID = 43822]

85) Which of the following elements would you not relate with the basic elements of inclusion?

Praffea ol & & omg fews! gaash fian & qo a@l & 614 T8 @1$a? [Question ID = 18474]

1. Admitting children with diverse abilities/fafde &manaff & |t S=ai &1 Waw [Option ID = 43888]

2. Homogeneous grouping IESEIRID) HHE [Option ID = 43889]

3. Age and grade appropriate placement of children/s=1 @1 3fd 3W iR I8 & SIER Fgfad [Option ID = 43887]
4, Zero rejection/Y &P [Option ID = 43890]

Correct Answer :-
« Homogeneous grouping /HIG HYE [Option ID = 43889]

86) Which of the following questions deals with Epistemology?

Prafafead & @ o=-u1 vy FeHEEET § Y4t 82 [Question ID = 18468]

1. Is universe created?/341 &S &1 o 3T 27 [Option ID = 43866]
2. What is doubt?/ ¥&g &1 82 [Option ID = 43865]

3. What is good?/ 3518 &1 82 [Option ID = 43863]

4, Does God exist?/@T §4% FT 3(fEied &7 [Option ID = 43864]

Correct Answer ;-
« What is doubt?/ Teg &1 %7 [Option ID = 43865]

87) Which of the following statements is not true about the Right of Children to Free and Compulsory Education Act (2009)?

Fafafea & @ $F-u1 Fy= e v sfard ama fign siffer sftufaw (2009) & T & W= 781 82 [Question ID = 18368]

1. It is the first Central legislation on school education./dg fa=merd! f1&m TR Ugel %49 S 81 [Option ID = 43463]

2. It is the only Central legislation on school education./d8 farerrerdt fran wr sraven i Cab Gl %1 [Option ID = 43465]

3. It holds significance as a Fundamental Right to have been added to the Constitution of India./d8 U Hiferd ifUeR & wu § Heayl & e wrRa &
gy o SiteT T 21 [Option 1D = 43469]

4, It is a Central legislation applicable across India./98 & G EFE{% Ell fﬁ YRa | EiF],%! [Option ID = 43467]

Correct Answer :-

« Itis a Central legislation applicable across India./98 U ®ard &I g Wl T HRd H @F g [Option ID = 43467]

88) Which of the following statements would you relate directly with Deductive reasoning?

Frafefea & | feae! smu -9 Frmeee 9 & a1y dfia a9 82 [Question ID = 18475]

1. Tt involves use of multiple hypothesis and several specific observations to give conclusion./38% @3 faffy fRwfirgf oiR &3 uftwegnait & Iua g
frsee feam ST €1 [Option ID = 43892]
2. It involves using a set of general statements or observations that we know to be true to reach a logically sound conclusion./ S |y feafory a1

3l & FEY 1 YA H g 64 U "I ¢, TP dlicrd by ddb Ygal olidl | [Option ID = 43893]

3. It is a "bottom up’ process involving generalization from specific observations./dg fafary sEdiel ¥ gadie a6 ﬂf’tlel P " G ST, & B ufsar
21 [Option ID = 43894]

4, Tt involves using a set of specific examples to reach to a general statement./33% f3fRTF IR & UF TH=A &1 IUGNT H UH H-Y HYF 06 Ugdl
I 81 [Option ID = 43891]

Correct Answer :-

« It involves using a set of general statements or observations that we know to be true to reach a logically sound conclusion./ oH g femfirt ar
AAIFH & TG H WUN Hb [ore g9 T HId €, U alidhd 1spY dd UgeT Sl 81 [Option ID = 43893]
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89) Which one is true about religious education as given in the Radhakrishnan Commission Report?

NUTFWT AT Y e & enfifes Rran & ary & amar $19 91 7d ¥ 22 [Question ID = 18503]

1. Religious education has an important place in higher education. /&Tfife fien &1 3= fR1en & ve He@qul ®IF g1 [Option ID = 44005]

2. Religious education is a pathway to spiritual education./uTfie fRigm snemféye firan & for us #nf 1 [Option ID = 44003]

3. We do not want religious education, but education about the religions. /89 e fien =1eT, ifug wwf & SR o e 918d €1 [Option ID = 44006]
4, Moral and Religious Education are two founding stones of Social education./Afd@ 3R urfife fRren armfere fien ot g €1 [Option ID = 44004]

Correct Answer :-
« We do not want religious education, but education about the religions./8H Ut fRram 18T, aiftrg «mf & 9 ¥ &M =18d &1 [Option ID = 44006]

90) Mrs. Harshita has a son who is in class 2. Every day, he returns home from school and excitedly talks to her about his friends,
teachers, and the things which happened at school. Which system is the cause of this excitement?

sftwreht gfifar &1 g e 2 # ugar 21 a¢ wiafe faearea | diews sro=h wf & aroa firs, et v faremera A ufed genai & e & Icgar | garar
B BI-91 97 WD IHAT BT HRUI 87 [Question ID = 18484]

1. Micmsyﬂemmﬁﬁﬁlﬂ [Option ID = 43930]
2. Macrosystem/ FshIfEReH [Option ID = 43928]

3. Exosystem,/UgHIT%ed [Option ID = 43927]
4, Mesosystem/HHIRIEH [Option ID = 43929]

Correct Answer :-
. Microﬁystemm&ﬁﬁmﬁ [Option ID = 43930]

91) In an inclusive setup where there are children with diverse reading abilities, modification in material can be done to:

TS THTART ST WEi Ue 3t fafay amanaif aret o= €, a8t 9wt # weneA % fere fasar w1 W&aT 8: [Question ID = 18467]

1. reduce highlighting of critical features/THTA=TE® AU & FHRA & &H & [Option ID = 43859]
2. complicate language/™HT8T @1 Hf¥dHe &1 [Option ID = 43862]

3. increase extraneous details/aTg<! fagvor d ?1'@ A [Option ID = 43861]

4. increase readability/ UTEHAT &1 &4 [Option ID = 43860]

Correct Answer :-
« increase readability/ JUIETT I d& [Option ID = 43860]

92) Mathematics and History are two different forms of understanding. In terms of methodology:

Tford 3% 3faETE, I19 F 3f 3e-3ET T4 €| S & Sa #:
[Question ID = 18398]

1. The first is very high in precision and the second presents a probable truth at the most./J8@1 §gd it/ HeI® § 3R gE ifUF § (ftd Gy 9
TEgd B3 §pal g1 [Option ID = 43583]

2. The first is concerned about the choice laden actions and the second presents the actions made in the past./ Tgdl faded ¥ W H10T § Gafid g 3% gud
3fefid o fohu U ST B Wigd T ¢/ [Option ID = 43589]

3. The first is concerned about human well-being and the second presents the stories of well-being in the past./Og ¢l AMEG S0 T grafed % 3R ool
3fefta # S B HEIG! &1 Ukgd Feal €1 [Option ID = 43587]

4, The first is very open in choices and the second presents an issue under investigation./Jgd ¥ §gd ¥ Wd A ey 81d 8 3R gl wiid fard o7 T8 fawg &t
URKId $aT 21 [Option ID = 43585]

Correct Answer :-
« The first is very high in precision and the second presents a probable truth at the most./98d1 9gd HfU® TEI® ¢ 3R GEnl s 9 it Jure 94
YT P Wbl g1 [Option ID = 43583]

93) Who wrote 'The Republic'?

fra g frufesre ot 41?2 [Question ID = 18378]

1. Kant/& 1< [Option ID = 43503]

2. Rousseau/=41 [Option ID = 43505]
3. Plato/@iel [Option ID = 43509]

4. Hegelm [Option 1D = 43507]

Correct Answer :-

« Plato/%iel [Option ID = 43509]
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94) According to Jerome Bruner, the Curriculum of a subject should be determined by the most fundamental understanding that can be
achieved:

WRIH TR & R, UH fauyg & yreumy &1 ¥aw gi-ardt auw f[5us gr1 Fuffa 1 9=t af@e? [Question ID = 18390]

1. of the important theories that have been proved in that subject/3% fawa & fig we@yn! Rrar! & [Option ID = 43551]

2. of the classical ideas that have been proposed in that subject/39 fawg ¥ uanfad f6d MU ety f@9RT & [Option ID = 43555)

3. of the underlying principles that give structure to that subject/3d fawg &t = ygH & ar Gﬁﬁ%ﬂ g & [Option ID = 43557]
4, of the significant discoveries that have been made in that subject/3¥ fawg # {2 e wide 3~4wvl & [Option ID = 43553]

Correct Answer :-
= of the underlying principles that give structure to that subject/3% fawg & ¥y ueH H3 ard Sfafifed gt & [Option ID = 43557]

95) According to John Dewey, the task of the teacher is to:

Wi S8 ¥ ITIR &/ &1 F1 8: [Question ID = 18451]

1. harness the educational experiences of children for the development of the nation/IT¥ & fa@T & fore s=df & e syl @1 IudT S [Option ID =
43797]

2. harness the child’s interest in the educational process/Siféi@ uferan & aTed @1 fa & gi@ &A1 [Option ID = 43796]

3. develop teaching learning material for children to learn/a=i/aTEl & fora Rigror siferma wrrht @1 a9 %31 [Option 1D = 43795]

4, develop the hidden talents of children/ F=a @1 feydt ufaumait &1 fasfd F37 [Option ID = 43798)

Correct Answer :-
« harness the child’s interest in the educational process/ifé® ufshar ¥ arae @1 & i T [Option ID = 43796)

96) According to Bertrand Russell, “To be a good philosopher, a man must have a strong desire to , combined with great caution
in believing that he knows; he must have a logical acumen and the habit of exact thinking”.

TEIS THA & ER, TP w31 SrRie 991 & forg, v et &t U Hogd 3551 g1 918y, , I9H ug sifafayra =& g =ifee i a8
ST §; 98 U dliee gig 3K Hl1d |ig B 3M1qd arem 8141 91| [Question ID = 18416]

1. examine/ &g &Y & [Option ID = 43657]
2. analyze/faawur ¢4 @ [Option ID = 43661]
3. know/ST== &1 [Option ID = 43659]

4, answer/3TR &4 B! [Option ID = 43655]

Correct Answer :-
+ know/ST== @1 [Option ID = 43659]

97) The mean is generally an inappropriate measure of average for surveys that ask people to indicate their preferences. The above
statement is:

AT TR IR T WI&0T gl il @ S9! Wruftrearsi &1 g1 ST &, T81 3id S S &3 & o1 AT U Srfod Surd 8 | Sudiew Sy &:
[Question ID = 18446]

1. False, as mean always gives a correct measure of average/3Td, Tifds HTed 3T &1 N Y& TUMT HT & [Option ID = 43777)

2. False, as mean is a common measure for finding averages/3{dd, s Aren 3T 1 MU & fore uss amg U™ % [Option ID = 43776]

3. False, as mean is a common measure for finding averages and it always gives a correct measure of average/3{dd, i Tren S S 70T S fore we
39 IUTT & 3R T8 3M™a 1 §HIA el TUHT &l & [Option ID = 43778]

4, True, as preferences are generally presented in an ordinal scale./5d, @i WryfErdTafi B AH TR W THHYED HIU-1 H W a1 ST g [Option ID =
43775]

Correct Answer :-

« True, as preferences are generally presented in an ordinal scale./8d, F4ife WrufFrEarsfi &1 oM dR W HHYES A9t J wgd f&ar Srar € [Option ID
= 43775]

98) The name of the Massive Open Online Course (MOOC) Platform developed by the Government of India is:

HRA & ARt aitu= sifqersa ®Rf Wew (MOOC) &1 4 §:
[Question ID = 18463]

1. FutureLearn/TIER@ [Option 1D = 43844]
2. SWAYAM/¥GTH [Option ID = 43846]
3. Coursera/@ERT [Option ID = 43843]

4. Udacity/3STf¥et [Option ID = 43845]

Correct Answer :-
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« SWAYAM/ZGTH [Option ID = 43846]

99) The correct sequence involved in developing skills is:

sioa e A aftlfa a8 sgsa 8
[Question ID = 18452]

1. Manipulation, Naturalization, Precision, Observation/Sig-alg, Wasfaul, URYEdl, 3fddld- [Option ID = 43802]

2. Imitation, Manipulation, Precision, Naturalization /3{J&TT, we-drs, REEdl, Wil [Option ID = 43800]

3. Imitation, Precision, Manipulation, Automation/ 3 ®<0], GG, Gﬁ_&’?ﬂ‘s’, ¥ddTeA [Option ID = 43801]

4. Observation, Imitation, Successful Practice, Automation / &IﬁFﬂ'ﬂFﬂ U], e HTH, ¥l [Option ID = 43799]

Correct Answer :-
« Imitation, Manipulation, Precision, Naturalization /3I&Ul, STe-dle, UG, UafddIul [Option ID = 43800]

100) The Three R's used to judge the appropriateness of a set of norms for a given testing situation are:

ot &t vfteor fRufe & we &1 sitfacr wieq & R S AR s s vam fem oman 8, 9 &
[Question ID = 18447]

1. Representativeness, relevance and recency/Rusefeag (wfaffiadn), Yada (wrifiraan siv S8 (3d=am) [Option ID = 43779)
2. Representativeness, reliability and resourcefulness/ Rusrefea=g (wfaffieaan), Taf@ferd (Ryogan ok SoRiEeT (I1eF Trger) [Option ID =
43780]

3. Reliability, reasons, representativeness/Starf@ferdt (fayg-itaan), e (@ron), fwefeadw (ufaffieaan [option ID = 43782]
4, Reliability, resourcefulness, representativeness/ SraTafere! (fum-aan), ST (FeF wa=an), Risefea-w (wfaffiern) [Option ID = 43781]

Correct Answer :-

« Representativeness, relevance and recency/Rusi=feana (ufafafiraan), Yed=g (urfiean) 3R d8dt (Fdem) [Option ID = 43779)
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